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SN SR
HE: Qs HESE
Sl MolsolYs (B9 ®R)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| < 25,600
g3 ZLE 53,280 100,800 ANAT,520
2 44,400
< 8,880
308 XX EHHSOIA 53,280 100,800 NAT,520
2 44,400
< 8,880
01 IXNHHBNEES 53,280 100,800 ANAT,520
O=gdgH 2848 XA 53,280
= 44,400
< 8,880
LOIOIAEHUS eI 871,630 958,448 86,818
= 583,700
< 287,930
307 21201 A 871,630 958,448 86,818
= 583,700
< 287,930
02 QAFAAFEX 871,630 958,448 86,818
OsZ0tolAEHO s B 28X 871,630
= 583,700
= 287,930
SESSHAA =AM 57,500 57,500 0
= 50,000
< 7,500
308 At EHHSOIA 57,500 57,500 0
= 50,000
< 7,500
01 HIXNHHNBMNEES 57,500 57,500 0
O=sZ3SHa AL 22At XI& 57,500
= 50,000
< 7,500
sXol82clX&d 296,629 296,629 0
J| 296,629
308 XXM SO0l A 296,629 296,629 0
J| 296,629
01 IXNHHMBNEES 296,629 296,629 0
OsXols8&el & 296,629
J| 296,629
SN sESX 650,000 390,000 260,000
= 500,000
= 150,000
308 XtXIEHH SOl A 650,000 390,000 260,000
= 500,000
< 150,000
01 X HHILEES 650,000 390,000 260,000




SN S
HE: Qs HESE
Sl HolsYo s CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZANY sERX XN&E 650,000
=2 500,000
< 150,000
SENESL0IS SHAME 318,244 267,480 50,764
= 239,640
< 78,604
308 XX EHH SOl A 318,244 267,480 50,764
= 239,640
< 78,604
01 X HHILEES 318,244 267,480 50,764
OsENEgs20s sS8AY 318,244
= 239,640
< 78,604
sEME0= cdHUal 5,000 5,000 0
201 ¢er24] 5,000 5,000 0
03 A2 Z Hl 5,000 5,000 0
OsEME0tsS 2l U3l 5,000
H=Q sIt=8=x=c/dl X& 30,000 30,000 0
403 MtXISHHE X201 & 30,000 30,000 0
01 XM A=2E X 30,000 30,000 0
O#se sIt=8=cldl XI& 30,000
SHE HEFOH HAEIZEEA XA 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 QIAFAAFEX 30,000 30,000 0
OsZ& WHEFIt HAEE MK 30,000
Hselo & =4 156,000 0 156,000
= 120,000
< 36,000
403 A X EHHSH=0lA 156,000 0 156,000
= 120,000
< 36,000
01 X ESHHMA=2LE L 156,000 0 156,000
OA=sele & =4 156,000
= 120,000
< 36,000
SEEFHAMA 101,889,557 88,968,902 12,920,655
Xl 89,865,000
< 12,024,557
SHEHONISE =4 3,298,100 7,085,000 A 3,786,900
X 2,537,000
< 761,100
403 UtXSHHS A= 0l& 3,298,100 7,085,000 A 3,786,900
Xl 2,537,000




PN LAY
HE: Qs HESE
2 sEFFHAMA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 761,100
01 XM A=2EE 3,298,100 7,085,000 A 3,786,900
OsUHEHOSE LAY 3,298,100
X 2,537,000
< 761,100
JIAsE&E & d 2,424,929 4,662,857 A2,237,928
Xl 1,997,000
< 427,929
403 MHXSHHSA=0l& 2,424,929 4,662,857 A2,237,928
X 1,997,000
< 427,929
01 XM= XL 2,424,929 4,662,857 AN2,237,928
OJlIAstEdz & ZZAMY 2,424,929
Xl 1,997,000
< 427,929
SEXNS SEMNL(ASR) 23,556,672 21,875,100 1,681,572
Xl 20,873,000
< 2,683,672
403 MtXISHH S =0l & 23,556,672 21,875,100 1,681,572
Xl 20,873,000
< 2,683,672
01 XM A2E X 23,556,672 21,875,100 1,681,572
OsZEXNY SEMHLAMSE(AL) 23,556,672
Xl 20,873,000
< 2,683,672
SEXND SEML(02) 1,644,328 0 1,644,328
Xl 1,457,000
< 187,328
403 XIS S X201 & 1,644,328 0 1,644,328
Xl 1,457,000
< 187,328
01 XXM 22 = 1,644,328 0 1,644,328
SEXNY SEMHLALS(0IS) 1,644,328
Xl 1,457,000
< 187,328
SEMEEY ZY 4,528,957 5,324,600 795,643
X 4,013,000
< 515,957
403 XIXISHHIS X =20/ & 4,528,957 5,324,600 AT795,643
Xl 4,013,000
< 515,957
01 X SHHMA2E X 4,528,957 5,324,600 AT95,643
OsZME SZEHIAY 4,528,957
Xl 4,013,000
< 515,957




2AN: sgEHY
HE: Qs HESE
SR - ECER CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Mo x4 395,000 274,243 120,757
Xl 350,000
& 45,000
403 RXI S A S X =0l & 395,000 274,243 120,757
Xl 350,000
& 45,000
01 XIS A =Z2E X 395,000 274,243 120,757
OXR0ts & AY 395,000
N 350,000
o= 45,000
SEZSAMX(SHAMK) E4d3AtY 56,602,371 44 647,416 11,954,955
N 50,154,000
= 6,448,371
403 I X SHAIS X =20l & 56,602,371 44,647,416 11,954,955
Xl 50,154,000
& 6,448,371
01 AXESHHI2E X 56,602,371 44,647,416 11,954,955
SEZSAMRN(SHATI) EASALY 56,602,371
Xl 50,154,000
o=t 6,448,371
JIEME QTet | 3,435,200 2,740,343 694,857
Xl 3,164,000
& 271,200
403 XX SHHS K201 & 3,435,200 2,740,343 694,857
N 3,164,000
o= 271,200
01 XIS A2E X 3,435,200 2,740,343 694,857
OJI=ME T2 MY ALY 3,435,200
N 3,164,000
= 271,200
ANZE2 OFOICIO AFEY 5,451,000 1,445,700 4,005,300
N 4,830,000
= 621,000
403 XX SHHS K20 ™ 5,451,000 1,445,700 4,005,300
Xl 4,830,000
= 621,000
01 XIS AZ2E X 5,451,000 1,445,700 4,005,300
OAZE2 0OF0ICI At 5,451,000
Xl 4,830,000
= 621,000
Az 25 AS 553,000 507,857 45,143
Xl 490,000
o= 63,000
308 AMXISHMSOIA 553,000 507,857 45,143
Xl 490,000
=} 63,000




SN S
HE: Qs HESE
Sl SEFFO0RAMM CER-ED
5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 553,000 507,857 45,143
OAzZgE 2stArY 553,000
Xl 490,000
< 63,000
sHU=EXEA 5,592,546 6,418,589 A 826,043
= 1,831,666
< 3,760,880
SO AL 156,000 171,000 A 15,000
307 21201 A 156,000 171,000 A 15,000
04 QIZFHALAIH B & 156,000 171,000 A 15,000
OsgelttEglal stehol etote A 10,000
O=clsdt= XNB0l BHQ A 12,000
OsESEHY JI=E0tE &AL 23,000
O&=2sll=X sl i 9,000
O&dsgel d=0Hal &It 20,000
O=sgadgel sl M= 82,000
sgEE M3 131,868 130,373 1,495
308 XX EHSOIA 131,868 130,373 1,495
01 HIXNHMBNEES 131,868 130,373 1,495
O=gZ2H =3 NS 119,868
Osglles 32X M3 12,000
s ol et B A 202,680 198,369 4,311
308 XX EHH SOl A 202,680 198,369 4,311
01 HXNHHNBHEELS 202,680 198,369 4,311
O=sgel tdIH I+ X & 202,680
A= SAHXA 136,220 136,220 0
308 XX EHH SOl 136,220 136,220 0
08 WEIIA0HStE X 136,220 136,220 0
O s gAH XIJ AL 136,220
SHEAXH &3 143,785 1,018,853 A 875,068
308 XXM SO A 143,785 1,018,853 A 875,068
01 AXHHBILEES 143,785 1,018,853 A 875,068
Os0giES RS XE A 143,785
HEsHgeldy 29 13,050 65,250 A 52,200
308 XX EHHSOIA 13,050 65,250 A 52,200
01 AXHHILEES 13,050 65,250 A 52,200
HEsSHYUEEH 2 XA 13,050
st &0 19,520 99,200 AT9,680
308 A EHHSOIA 19,520 99,200 AT9,680
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SN S
HE: gy HESE
&2 NEESANY |4 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 QIZFHALAIH E = 6,000 6,000 0
O&E=28 stt= 8tiote &It 6,000
SESUSHATHEAS T2 5,000 5,000 0
201 Let24d]| 5,000 5,000 0
02 23=24gHl 5,000 5,000 0
OsESUSTANBHELAE R A 22 5,000
SE=H K& 39,000 39,000 0
= 30,000
< 9,000
308 AHAIEHHSOIA 39,000 39,000 0
= 30,000
< 9,000
01 HIXNHHNBHNEELS 39,000 39,000 0
Os&=H X& 39,000
= 30,000
< 9,000
SEMY B4 2,351,000 2,847,000 A 496,000
Xl 2,000,000
< 351,000
308 XXM SO0l A 1,266,000 1,669,000 A 403,000
Xl 1,087,000
< 179,000
01 IXNHHBNEES 1,266,000 1,669,000 A 403,000
OTFEMAS LAY (2 &) 1,266,000
Xl 1,087,000
< 179,000
403 A X EHHS =0l A 1,085,000 1,178,000 A 93,000
Xl 913,000
< 172,000
01 X HHMA=LE L 1,085,000 1,178,000 293,000
OFEMASHAMD (IH2) 1,085,000
Xl 913,000
< 172,000
JHAEIXANE N =M 5,425 4,721 704
= 4,807
< 618
308 XX EHSOIA 5,425 4,721 704
= 4,807
< 618
01 IXNHHBNEES 5,425 4,721 704
OZABHAF XM 5,425
= 4,807
< 618
otM st sEDNS eS| 900,000 900,000 0




SN sYEUY
My g HESE
&2 NEESANY |4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
403 MtXISHHE =01 & 900,000 900,000 0
01 XM A=2E X 900,000 900,000 0
Ootds s&E0t2 eS| 900,000
SHE HEZ - IS - 7S AIEXR 2,745,000 2,380,000 365,000
Xl 2,281,000
< 464,000
201 Let24d] 10,000 10,000 0
Xl 5,000
< 5,000
01 At 2teltl 5,000 10,000 25,000
OsE&E6xtats J1=l 2 ot MAHA 2= 5,000
Xl 2,500
< 2,500
03 A2 Z Hl 5,000 0 5,000
O=&E6XetH s 23 2L W= 5,000
Xl 2,500
< 2,500
307 21201 A 10,000 0 10,000
Xl 5,000
< 5,000
02 IAFAAHFEX 10,000 0 10,000
Os&E6atetst A48 2 2LHE XN 10,000
Xl 5,000
< 5,000
403 UHXSHHSA=0l& 2,725,000 2,370,000 355,000
X 2,271,000
< 454,000
01 HXSHMA2E X 2,725,000 2,370,000 355,000
OsdE HZE -3 - 28 AEXA 2,725,000
Xl 2,271,000
< 454,000
SHE SSHa8s 832 131,500 100,500 31,000
= 131,500
308 XXM SOIA 131,500 100,500 31,000
= 131,500
01 IXNHHBMNEES 131,500 100,500 31,000
Os0E SsHeds 8828 131,500
= 131,500
SOHE SSH4ds NJ4dH 102,000 100,000 2,000
= 51,000
< 51,000
307 2I2t0 & 102,000 100,000 2,000
= 51,000
< 51,000




SN SR
HE: gy HESE
e NYEESAY 4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 Q2B AMAIE E =X 102,000 100,000 2,000
OsHE BsHEd3 ANJ3ALH 102,000
= 51,000
== 51,000
SANEESIIE 2 & X &0l 6,900 6,900 0
202 044l 6,900 6,900 0
01 2L Y| 6,900 6,900 0
OsX&EE oI o) sXeol 6,900
XA S XNFEZ )2 29 U A S HOp 808,400 0 808,400
= 419,000
= 389,400
307 2Iz2t0l & 808,400 0 808,400
= 419,000
= 389,400
02 DIZHAAAIE E X 808,400 0 808,400
OB6XAat S NEZ2 0 29 L AIE s Ot 808,400
= 419,000
& 389,400
BRFAMATE KNGALASE ALY 177,000 0 177,000
= 150,000
& 27,000
308 XNXISHSO0lI& 177,000 0 177,000
= 150,000
= 27,000
01 IXHHIMNEXTS 177,000 0 177,000
OB6XAFA S X[ HAHAAAS ALY 177,000
= 150,000
== 27,000
AN S 28 =& KIAY 177,000 0 177,000
= 150,000
o= 27,000
403 XX S M S K201 & 177,000 0 177,000
= 150,000
o=} 27,000
01 XS A2E X 177,000 0 177,000
OB6XI At 3 S e8s& XSAY 177,000
= 150,000
= 27,000
SHENLIISENSXNE (SHEMLIISELSH) 16,881,121 13,361, 145 3,519,976
SHENLII2 A2 A& 16,881,121 13,361,145 3,519,976
501 X3 16,881,121 13,361,145 3,519,976
02 sSst=2sJ)IdE8X=2 16,881,121 13,361,145 3,519,976
OsHEHEIIZ2s8H2 I 16,881,121
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